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1) 8Z-183=20
3Z =33
1/3-3Z2=33-1/3
Z=1

2) 3(11)-13=20
33-13=20
20=20 -

3) 8L+7=55
8L =48
1/8-8L=48:1/8
L=6 .

4) 8(6)+7="55
. 48+7=55
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9) 9/15>5/15
10) 16/32 = 16/32.
11) 7/21 < 12/21
12) 5x 5,280 = 26,400 t.

18) 2x5280 - 3520 550 1

371 1
14) 7/2x16= 5602

15) 2 5—+19 2613 27—1-m|.

12 12 12
16) 25:5, 25;45:3, 5,15, 45
GCF-5_'
17) yes .
18) 61, 3_61,8_861_,. 1

so 5 bags’
19) 9x9=81.
20) 55
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19)
20)

7A+8=29
7A=21

17 -A=21-1/7
A=3

7(3) +8=29
21+8=29
29 = 29

9M -9 =54

9M =63
1/9-9M =63 -1/9
M=7

9(7)-9=54
63-9=54

35+3=11 2/3 yds.
8x2=16 pts.
3/2x4 =6 qts.

04 66—912 66=3%=3§ tons

8 8 4
15 2090
NN

3x3x7

13/2x12 =78in.

7/8 x 5,280 = 4,620 ft.
4,620 + 3 = 1,540 yds.

23 x23 =529
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1) done
22(32)_22 ,9_198 _ 52
2) 7(3)—7><1 > —287 sq. ft
22 _22 7241 1386 _
3) 7(212)—,7\><1 1 1,386 sq. in
22 -22,36 _792 4431
4) 7(6) = 1 = 113 sq. ft.
22 (42)_22 16 _ 352 .42
5) 7(4)—_/,><1 == 50 sq. yds.
6) done
2,22 3_132 _4g86
7) 1><7><1 ~ 187ft
2 22 ng® 132
8) TX—{X_‘ =—1—=132 n
2,22 ,6_264_ 4,5
9) 1><7><1 = 377ft
2,22 X _44_
10) 1><Y><1 1 44 in

V.2 - 392 suonn|os




278 27C 27D

54

343 29 22 %91 e 1
1) £5(;2) =52 x22 =122 -154-5q.in.
227 5y 22 (16 852 g0 2 oo 221 oY 23 PRGN FBA6 . - R A R T
1) 7(4 ) =X == =50% sq.in 1) 7(49) xS == =7,546 sq.in Y
;1824 2) TX?XT=T=44IH
22 ( 2)_22, 784 2464 _ 22(.2)-22,25_530_,g4
2) 2(pg2)=& % Pt =2,464 5q. 1t 2) 2(52)=Lx2-30-75d 5.1t 3) gg(gz)z%%x&::@ﬂs#sq.ﬂ
2 .22 9 _39% 4
22( 2).22,121_2662 _5a02 o 22(2)-22,64 1408 _ 5001 oo | Y T xy=To=seg
3) 7(11) = x > :3807 sq. in 3) 7(8) = X3 = 2017 sq. in.
5) 3P-15=12
700 252 3p =27
22 (. o) _22 7960 _ 15400 _ 22( o\_22 T764 _5544 _ =
4 =2=g?) = x T = 15,400 sq. ft 4) 5 {gp2)= 5o x T =20 25,544 5. ft. e P e
P=9
22 ( 2)_22,100 _ 2200 _ 3442 22( 2)_22,144 3168 _4sn4 -15=
5) 7(10 ) o === 3142 sq. ft. 5) 7(12) =% 2% = 4522 sq. ft. 6) 3(9)-15=12
27-15=12
7
6) 2x22,4_176 551, 6) 2x22 29 _308 _ 305, 12=12
157 1 7 7 177X 7 T ) 8,5,3_3
4 % 2'% 7 14
2,22 .28 176 _ 8,00 5 290 a8 3, 20%%_3 _
7) 1><,s<x1_1—176ﬂ 7) X5 % 7—317ft. 8) ,&XM\:R—1—3
o &.1_9:1 g
2,22 11_484 o1 . 2 .22 8 352 _ .2 11 111
Bl §x=xyeis=tgs . B Frerapgm=5an 65)9 27 B .28 11 .5
e X EE s ===
10 6 4 22 A2 46 6
9) g><-2§%><E-=-AL@-:44O ft. 9 2x22 22 _ 264 o0y o 11) done
1 1 1 17X 71 1
12) 8pt. =8 pt
5 13) 80z.>7 0z
2 .22 .9 _ 39 4 . 2 .22 3§ _220
10) & x&E&x===2===56= in. 10) EXEXx=F=5==220mi
177771777 3 1% 771 14) 172_(162):%X2§6=56732=804%_Sq_in_

15) 1/2x1/2x1/2=1/8 cu. ft.
16) 1/2x12=6in;6x6x6 =216 cu. in.

1l,s1_-2_-1
17) 25455=72=77
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7-15+1 -9in
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9D =9
1/9-9D=9-1/9
D=1

9(1) + 14 =23
9+14=23
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15 gts. < 32 gts.

4,000 Ibs. > 1,500 Ibs.
1,760 ft. = 1,760 ft.

3/4 x 2,000 = 1,5028 Ibs.

22 _22 196 _616 _
7(142)_-?x—1--_——-616 sq. ft.

1/3-3A=90-1/3
A =230 yrs. h

28

6)

8)

9)

10)

63
22 Y’T’“ 1386 =1,386 sq. in.

=TxT T 84

7T
4Q-5=3
4Q=8
1/4-4Q=8-1/4
Q=2
42)-5=3
8-5=3
3=3
A

22(112)= 22,100 _ 2200 _ 3142 gq 1

11)
12)

13)

14)

15)

16)

17)

18)

19)

20)

204 in.> 17 in.
10,000 Ibs. = 10,000 Ibs.

3,960 ft. < 4,000 ft.

%(12)=-27—2x%=%2-=3-71 Sq. mi.
%(22)=272><$=87—8=127i sg. mi. (no)
g%s—\e i\\=5371- Ibs

%x%x%o-=$=15 sq. in

1,30l-602-=
305 +305 =605 =61

2 161=1012
405 +61=101£ ft
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